S A7 | A1

ORI

-Att

&3 st =2 n=3 shA w4 22 Al 2t 294l A LT A A2
ANASIIHE S 1 A JIAHEAHME 3 g 25,6,7.8 121102 6319 25,6,7.8
AsSIIIAN S 1 A JIZ=CAD 3 olss 21,234 5224 6319¢ 21,234
ANASIIHE S 1 A DIESSS=, 3 S =6,7,8.9 4121004 6316 =6,7,8.9
AsSIIIAN S 1 A SZFIAEHY 3 IS +6,7,8,9 XI&108 o +6,7,8,9
ASIIHE S 1 A JIASENE 2 013 29,10 55223 6319 29,10
AsSIIIAN S 1 A JIASHY 2 =g =3.4 A12f312 63162 =3.4
ASIIHE S 1 A JIAMESHE 2 FXA 41,2 55223 6320 41,2
b= X1 H 1 A CHSHA &t o1 A | 1 A = 4121004 63162 =
XS XEI1H 1 A =cls3 2 g8+ =12 121311 6321 =12
b= X1 H 1 A Foialat | 2 SRR 33,4 5222 6320 33,4
XS XEI1H 1 A AL ESEH 2 NEE =6,7 121220 6315 =6.7
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®z st e B2y st D4 2ol AIRH 2o Al NEER A& AlE
REIINHEB 1 B JIHEHH S 3 =R %1234 | 42102 6221 21,234
RERINHEB 1 B 71 ZCAD 3 = 278910 = E5225 62192 27,8,9,10
RERINHEB 1 B pES 3 SPVE 513,456 | 412004 62202 513,4,5,6
RERINHEB 1 B =ZUNEY 3 ¥ys 23,456 X14108 e 23,4,5,6
REXINHEB 1 B JIHBEINE 2 =01 25,6 £5023 62192 25,6
RERINHNEB 1 B 01 B 2 ot 31,2 Alo312 62162 31,2
REXINHEB 1 B AR IHE 2 2x¢f 57,8 £5223 6220 57,8
XS X401 2t 1 B CHSHA D 014 | i g +5 4191102 6221 +5
RSB 1 B 2153 2 4z aH.2 WETSE 62202 .2
XS 401 2t 1 B S 0{35t | 2 LS 21,2 £5223 62152 21,2
RSB 1 B NAESH 2 CEE 234 4191220 62152 234
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®z 5t e B2y st D4 2Ol A2 204 NEER A AI2E
RSN HE B 1 c JIHEHHE 3 By 35678 | 49102 62162 356.7.8
RERINHEB 1 c JIZCAD 3 Ngs 26789 | 55224 62192 26
RERIIANEHZ 1 c EE 3 & T 31234 | 42004 62162 312,34
RERINHEB 1 c SEENEL 3 ] #1234 | X&108 B4l 21,234
RERIIANEHZ 1 c JIHBENE 2 =01 23,4 £5223 62192 23,4
RERINHNEB 1 C JIH B R 2 ot 29.10 NERIE 62162 29.10
RERIIANEHZ 1 c JIHHBIHE 2 2x0f 55,6 £5223 62202 55,6
RS XD B 1 C CHSHA D 01 | 1 UsE o5 £5202 62192 L
RSB i C 4259 2 4z 5134 Alo|311 62202 513,4
RS2 1 C S0{3I5t | 2 B 5.2 £5202 68202 3.2
RSB 1 c NAESH 2 Az £5.,6 4121220 62212 45,6



S X271 AIH S -Dt

B S| Bz =y 8E D4y =ENEL 2ol LN NENEL
TSR HEB 1 D JIHEAHRE 3 gy 21,2,3.4 121102 62162 21,2,3.4
HSRINHEZ 1 D JIZCAD 3 NEs 516,7.8,9 £5004 62202 516
TSR HEB 1 D plESS 3 B TH 45,6,7.8 4121004 62212 45,6,7.8
HSRINHE B 1 D =HUNEY 3 ros 21,2,3,4 XI&108 a4 21,2,3.4
TSR HEB 1 D MBI E 2 01 27,8 55203 62192 27,8
HSRINHEH B 1 D B 2 4 26.7 8191312 62162 26.7
TSR HEB i D JIHMENE 2 SXlod 5134 £5223 62202 5134
TS X1 H 1 D CHE A4S D Ol | 1 Ngs 815 £5024 62202 815
XHS X1 2t 1 D ~2159 2 SR R =34 191311 62152 =34
TS X1 H B 1 D 40153t | 2 s 43,4 £5203 62212 43,4
XHS X1 2t 1 D INALESE 2 EE =12 4121220 68152 21,2
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